


H & 0l & At & M A
NBEE £ 2 5] QBB WYL
ST A
M oj2YBS Vs
chol: OfoioISA U HEZT (ctel:@9l)
2AH - ZE . S2(3A) - MIRAY - BHES Oil &t NEH HwsZ
SH2r= ALt 31,476,617 20,817,684 658,933
= 7,079,425 7,051,266 28,159
2 5,498,240 5,498,240 0
| 93,827 93,827 0
= 6,336,561 6,307,674 28,887
o 12,468,564 11,866,677 601,887
HP3E Lt 20,859,352 20,797,582 61,770
2 6,584,609 6,556,450 28,159
= 5,408,632 5,379,745 28,887
= 8,866,111 8,861,387 4,724
Hgelsd & 8584 1,977,355 1,973,035 4,320
2 400,900 400,900 0
& 469,775 469,775 0
= 1,106,680 1,102,360 4,320
OlA0O{I0ICH H2Ast B X 4,320 0 4,320
307 gI2Ho| M 4,320 0 4,320
02 QIRHEAAIHE X 4,320 0 4,320
OOIHOARICH st BE X
60,0002 x0*80% 4,320 0 4,320
SN 2= N e R el 13,986,289 14,023,130 A36,841
2 6,020,409 5,992,250 28,159
< 2,620,325 2,620,325 0
o 5,345,555 5,410,555 265,000
SO U SASAMT NCHS 41,000 106,000 65,000
401 AIZHIL 2T 35,000 00,000 65,000
01 A&l 35,000 100,000 265,000
OLI4RI0IY 28 STAIA
Z& 35,000,000 *100 2 35,000 100,000 265,000
B ELAS oE AT 27,6688 0 27,6688
= 27,683 0 27,683
301 LLtENZ 27,683 0 27,683
= 27,688 0 27,688
14 JIEtE &= 27,683 0 27,683
OFBYAME OIF NER
27,683,000 & =101 & 27,688 0 27,688
= 27,688 0 27,688
ASASNE o1F HNZH(REY) 471 0 471
= 471 0 471
202 Odd| 471 0 471
= 471 0 471
01 =W 38l 471 0 471
OFBYLMZ OIF XSHI(BHYI)
471,000 14 471 0 471
= 471 471
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S oAbt
M oI L35t
SRl gl Mater X3 (St M)
S - FH - SA(S) - AIRA - BES Odl &k24 N3 A HwsZ
ol MAD|EH XA 4,895,708 4,801,417 9,291
= 163,300 163,300 0
== 2,318,532 2,289,645 28,887
= 2,413,876 2,348,472 65,404
ZeHM gholi &yl KA 132,8% 122,594 10,301
[ 39,868 36,778 3,090
= 93,027 85,816 7,211
402 QIZ2HXH=0| A 132,8% 122,5% 10,301
< 39,868 36,778 3,090
= 93,027 85,816 7,211
02 QIZIXHE AL S X (O™ THE) 132,89% 122,594 10,301
ONuII2 & 2o SaHEHl XIS
23 132,895,000+ 14 132,8% 122,594 10,301
= 39,868 36,778 3,090
= 93,027 85,816 7,211
S AlEE 3323 € |sXZal 68,000 48,000 20,000
201 LEH2 | 68,000 48,000 20,000
02 S22l 68,000 48,000 20,000
OgU A= 352
Z& 68,000,000 14 68,000 48,000 20,000
g |2 366,000 316,000 50,000
401 AlZHIL 2 CHYI 366,000 316,000 50,000
01 Al&HI 366,000 316,000 50,000
O0g AldE8 sXl2el
50,000,000 x 14! 50,000 0 50,000
HENE FHEH 244,000 220,000 24,000
401 AIEHIZL 2] 244,000 220,000 24,000
01 Al&HI 244,000 220,000 24,000
OSSYIMl ZtAIE HXISA
24,000,000 *1JH 2 24,000 0 24,000
=4oE RATEAIE I 0 100,000 100,000
401 AIEHIL L0 0 100,000 100,000
01 AlEHI 0 100,000 A100,000
QJIMNE =42 IEE AL B
38 0 0 100,000 100,000
HOtESEU Y DIIIXIR 76,650 0 76,650
= 22,99% 0 22,99%
= 53,655 0 53,655
402 QIZ2HXH=0| A 76,650 0 76,650
< 22,995 0 22,995
= 53,655 0 53,655
02 RIZFR 2 AL E Z(0IETHR) 76,650 0 76,650
OHtEZAHS 01 X2
2,190,000 «36X 76,650 0 76,650
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S oAbt
M oI L35t
SRl gl Mater X3 (St M)
S - FH - SA(S) - AIRA - BES Odl &k24 N3 A HwsZ
= 22,99% 0 22,9%
= 53,655 0 53,655
LE:HL0] Al K& 121,363 112,023 9,340
< 36,409 33,607 2,802
= 84,954 78,416 6,538
402 RIZHXH=0| A 121,363 112,023 9,340
< 36,409 33,607 2,802
= 84,954 78,416 6,538
02 QI XI2AIE 2 (01 & THRA ) 121,363 112,023 9,340
OL==H2D| T XI&
ZE 121,363,000 14! 121,363 112,023 9,340
< 36,409 33,607 2,802
= 84,954 78,416 6,533
=2 ZEI X3 16,000 0 16,000
307 212+01& 16,000 0 16,000
02 BIHEAAIEE X 16,000 0 16,000
O=4tE ZEM X
20,000, 0002 *17H A *80% 16,000 0 16,000
=8 MEAld =2l & 25 A 0 12,000 212,000
402 BI2HX=01 N 0 12,000 212,000
01 QI X2 ARG B & (KM THE ) 0 12,000 212,000
O=8 MLAE =2l & B X
33 03 0 12,000 A 12,000
e Hokate] 1,612,275 1,123,315 488,960
= 10,000 10,000 0
s 50,000 50,000 0
J| 93,827 93,827 0
(= 160,969 160,969 0
i 1,297,479 808,519 488,960
ookate] 1,612,275 1,123,315 488,960
= 10,000 10,000 0
ray 50,000 50,000 0
| 93,827 93,827 0
(= 160,969 160,969 0
= 1,297,479 808,519 483,960
SHF M D] A3t 100,000 120,000 £20,000
Ay 50,000 50,000 0
< 25,000 25,000 0
= 25,000 45,000 220,000
401 AIZHIL 2 CHYI 60,000 80,000 220,000
Fas 30,000 30,000 0
< 15,000 15,000 0
= 15,000 35,000 20,000
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S o4t
i zEg Hotee|
el ok EEREED)
SA-3Y . SA(ZA) - MIRAY - BES Ol &4 N A Hws2
01 AlZH] 60,000 80,000 A20,000
Ot LMaI| XMeldl S
Z& 60,000,000 14! 60,000 80,000 220,000
fas 30,000 30,000 0
& 15,000 15,000 0
= 15,000 35,000 220,000
oMol HSHAHA) 500,000 0 500,000
101 124d] 10,000 0 10,000
M IRNZZ2NEES 10,000 0 10,000
Ot I Hot JIZHIE2N B2
100,000& x10Z * 102! 10,000 0 10,000
201 2er249| 120,000 0 120,000
01 AFR2t2ltl 120,000 0 120,000
Odfi &gl Eat FHIYXE
800,000 *140CH 112,000 0 112,000
odheMed g5t 257
2,000,0002 x4 2 (HE) 8,000 0 8,000
401 AIEHIZ S OHYI 370,000 0 370,000
01 Al 370,000 0 370,000
Ot gMaI| ®Meldl S
308,333& 1,200 370,000 0 370,000
20 258 2= & 13,580 4,620 8,960
(= 1,38 1,386 0
= 12,194 3,24 8,960
402 QIE X201 A 13,580 4,620 8,960
== 1,386 1,386 0
= 12,194 3,24 8,960
02 YA TH2AILEE(0IETHS) 13,580 4,620 8,960
O=0 a8 s N
ZE 13,580,000 14! 13,580 4,620 8,960
= 1,386 1,386 0
= 12,194 3,24 8,960
NP ES (L4401 138,017 29,814 108,203
SEXE 138,017 29,814 108,203
get= DJIEH 138,017 29,814 108,203
802 Btet=D1Et 138,017 29,814 108,203
01 =22 xzttet= 17,912 5,178 12,734
©20223 olgEs Xd 2NEELS TN
3,000,000& 3,000 0 3,000
©20224 OEs N =02x3 OlAEA
ol 2,140 3 0 3
20224 gEF=btE Q1S HEN R NEX
= JHEAH 727,000 7er 0 721
Q20228 MESFME QS ANEH R0NEX
= Ol Xprayoy 21,150 22 0 22
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A G Al
M HREBS (iYL
o9l 28AE (chel & 2l)
g I . c2{(BH) - HRAIY - BHAES Ol ¢nFoH J| & oM Hnsz
0202 SHAMYD| HEAIY 2HIEES &
3 &k ok 8,981,860 8,982 0 8,982
W@ Al - ZHEE20E2 120,105 24,636 95,469
0202 AUBS X2 THIBES XM
540,0002! 540 0 540
0202 HASE X2 THIBES O Kp2M
o 3602 1 0 1
0202 G1E{QICHY HASE XY T
BEZ 0Ky 1,2802! 2 0 2
020228 A0l EXHRY XY Al &
HIEEZ Xsixio 1,812,580 1,813 0 1,813
020228 AR ZXHHRH KR AFY &
HIEZXZ O XHerayou 4,7202 5 0 5
02022 SHLOI0l AZH JHE L FRE
el SH| MExo 10,111,600 10,112 0 10,112
02022 SHHO{el AZH JHE Y E
HE| SH| OfRperagoH 16,4802 17 0 17
o202E oM Mal2a B8E N THl &
SH &k ok 4,944, 7302 4,945 0 4,945
020224 o Mah2a B8E N T4l 0
K4 o 4079602 408 0 408
0202E 012 WalEAEs2 XY T &
3 &k ok 5,863,490 5,864 0 5,864
022 H2 WelEatEsE XY
O Rkt oH 2,002 3 0 3
020224 SO0l RIE XA CHI 01Xt
AHoH 770 1 0 1
02022 ({0l 4C X2 THIEES M
o 23,100,000 & 23,100 0 23,100
02022 (A0l £& X THIBES 0Ik
AHOH 47,8502 48 0 48
02022 EIHAIE] L0HAI STHIBXZ ZsH
Zhou 1,4102 2 0 2
02022 EJHAIRZ] A0HAI SHIEBZXZ OIXt
Al O 6,1202! 7 0 7
002 HAUR HHS LS AFY CHIR
X2 THEroH 5,173,730 5,174 0 5,174
0202d (AUE HAR LEX AIY CHIE
X2 0l Kperagou 210,640 211 0 211
002 SAEXNYLE CHIEES 01X
2t A4 ol 122,080 123 0 123
02024 H2UHYLLE CHIEZZ A
o 39,750€ 40 0 40
0202 UYL E THIBEZ 01Xt
Aol 3502 i 0 1
020224 BiCts: X& THIEX2 TS
20, 158,380 20,159 0 20,159
0202 HiCle: XA THIEXZ 0| KjerAgok
70,7902 71 0 71
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